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Transposons were first discovered in:
a. Rice b. Bacteria

c. Mice d. Maize

In a plant, red fruit (R) is dominant over yellow fruit (r) and tallness (T) is dogninant
over shortness (t). If a plant with RRTT genotype is crossed with a plant that is rrtt,

then in F1 generation:
a. 25% will be tall with red fruit b. 50% will be tall with red fruit
c. 75% will be tall with red fruit d. All will be tall with red fruit

The alleles of a gene do not show any overlapping and both the characters are
recovered as such in the Fz generation. This statement is:

a. Law of Dominance b. Law of Segregation

c. Law of Independent Assortment d. All of the above

If a patient with blood group B requires an immediate blood transfusion, which of
these types can be given?

a. ABand B b. ABand A

¢. ABandO « d. Band O

Which of the following geneticist reported on inheritance of mouse body colour?
a. L.Cuenot b. C.H. Morgan

c. E.Baur d. Bateson

Two or more genes are linked together because they are located on the same:
a. Cell b. Nucleus
c. Ribosome d. Chromosome

The crossing over in which one chromosome receives an extra gene, and the other gets
one less is:

a. Unequal crossing over b. Single crossing over

¢. Double crossing over d. Multiple crossing over

XX-XO system of sex determination is found in which of the following?

a. Drosophila b. Bonellia

c. Grasshoppers d. Ants

A genic ratio of AA+XXX will produce a:

a. Male b. Female

¢. Super male d. Super female

In which of the structural chromosomal abnormalities, a segment of a chromosome
breaks away and reattaches itself with another chromosome?

a. Inversion b. Translocation

c. Deletion d. Inversion

Cystic fibrosis is an example of:
a. Chromosomal disorder b. Complex disorder
¢. Monogenic disorder d. None of the above
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